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Tanulmányozza a megadott táblázatot, és az elkezdett mondatokat fejezze be a táblázat adatai alapján, a példa (0) szerint kb. 50-80 szóval! Kérjük, a feladat végén tüntesse fel az Ön által leírt kiegészítések szószámát.

[image: image1.png]Table 3. Energy production by major source from 1960 to 1980°

Year Total Percent production
production
{quad 8tu) Coal Petroleum | Natural gas Other®
1560 s 261 36.0 3.0 35
1570 621 235 325 389 a7
1980 6.8 287 8.2 34.2 8.9

“Source: U.5. Energy Information Administration, Annual Energy Review
2Includes hydropower, nuclear power, geothermal power, and others.





https://www.prismnet.com/~hcexres/textbook/tables.html
0.  Példa: I can see a table with six columns.

1. The table shows ………………………………………………………………………………………………………………………..
2. Energy Information Administration ………………………………………………………………………………………….

3. The first column represents the years. /the second…., the third…, etc., ………………………………….

4. The ’other’ column may include …………………………………………………………………………………………….

5. Only three ………………………………………………………………………………………………………………………………
6. The highest …………………………………………………………………………………………………………………………….
7. Coal production  was more in ……………………………………………………………………………………………….
8. In 1960 petroleum was …………………………………………………………………………………………………………

9. The lowest  total production was ………………………………………………………………………………………….
Egy lehetséges mintamegoldás:
0.  Példa: I can see a table with six columns.
1. The table shows the energy production by major source from 1960 to 1980.

2. Energy Information Administration is the source of the table.

3. The first column represents the years. /the second is total production,  the third to six shows the percentage of different energy sources.
4. The ’other’ column may include hydropower, nuclear power and geothermal power.

5. Only three years are represented in the table. 

6. The highest total production was in 1980.
7. Coal production  was more in 1970 than it was 1980.
8. In 1960 petroleum was 36 % of the total production.
9. The lowest  total production was in 1960 with 41.5 quad Btu.
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